Negative Decimal Multiplication

Name: Score:

Solve the decimal multiplication problems.

04 x -12 = -0.3 x -14 = 3.1 x -14 =
1.1 x -24 = -0.2 x 3.8 = 1.8 x -2.2 =
22 x5 = -04 x -9.1 = 34 x 2.1 =
35 x -2 = 0.6 x -2.5 = 29 x -1.2 =
25 x 22 = 0.5 x -3.5 = -0.2 x -14 =
03 x -9 = -1.3 x 4.1 = 32 x -14 =
3 x-14 = 25 x 1.3 = 1.5 x -14 =
32 x 13 = 14 x -2.5 = 53 x 25 =
-2 x -1.9 = -0.5x-1.7 = 54 x -1.2 =
-0.2 x -9 = 22 x -1.6 = -0.2 x-13 =
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Answers

Solve the decimal multiplication problems.

04 x -1.2 = -048
1.1 x -24 = -2.64
22 x5 = -11
35 x -2 = 7
25 x 22 = 55
03 x -9 = -2.7
3x-14 = 4.2
3.2 x 1.3 = 416
2 x -19 = 3.8
-0.2 x -9 = 1.8

-03 x -14 =

-0.2 x 3.8 =

-04 x 9.1 =

0.6 x -2.5 =

0.5 x -3.5 =

-1.3 x 4.1 =

25 x 1.3 =

14 x -2.5 =

-05x-1.7 =

22 x -1.6 =
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3.1 x -14 = -434
1.8 x -22 = -3.96
34 x 2.1 = 714
29 x -1.2 = 348
-02 x -14 = 0.28
32 x -14 = -4.48
1.5 x -14 = 2.1
53 x 25 = -13.25
54 x -1.2 = 648
-0.2 x-1.3 = 0.26



